
1) (-9939) - (-1760)

Answer: ____________

2) 6516 + (-1718)

Answer: ____________

3) 75 x (-78)

Answer: ____________

4)
121

4 /8

Answer: ____________

5) (-9564) - 3166

Answer: ____________

6) 8105 + (-3508)

Answer: ____________

7) 3499 + (-3779)

Answer: ____________

8) (-9856) + (-4827)

Answer: ____________

9) (-4896) + 7441

Answer: ____________

10) 1428 ÷ (-28)

Answer: ____________

11) 8643 + (-1963)

Answer: ____________

12) (-5390) ÷ 77

Answer: ____________

13) 2543 - (-6163)

Answer: ____________

14) 4064 - (-2445)

Answer: ____________

15) 6596 - (-3570)

Answer: ____________

16) (-2976) ÷ (-93)

Answer: ____________

17) (-6104) - (-4146)

Answer: ____________

18) 32 x (-99)

Answer: ____________

19) (-1643) ÷ (-53)

Answer: ____________

20)
81
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Answer: ____________

Total: ___ / 20
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Answers:

1) -8179 2) 4798 3) 4) 11 5) -12730 6) 4597 7) -280

8) -14683 9) 2545 10) -51 11) 6680 12) -70 13) 8706 14) 6509

15) 10166 16) 32 17) -1958 18) 19) 31 20) 27
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